GWD-TN-18: VERBAL

1. GWD-29-Q1

More than fifty years after the Second World War, a number of African American soldiers were awarded ― some of them posthumously ― with the Congressional Medal of Honor, which was the nation’s highest military award, and which was long overdue in recognition of their outstanding bravery.

A. with the Congressional Medal of Honor, which was the nation’s highest military award, and which was long overdue in

B. with the Congressional Medal of Honor, the nation’s highest military award for long-overdue

C. the Congressional Medal of Honor, which was the nation’s highest military award, long-overdue in

D. the Congressional Medal of Honor, the nation’s highest military award for long-overdue

E. the Congressional Medal of Honor, the nation’s highest military award, in long-overdue
------------------------------------------------------------------------------------------------------

2. GWD-27-Q2:

Electronic computer chips made of tiny silicon wafers now regularly contain millions of electronic switches.  Unfortunately, electronic switches that are this small cannot withstand intense radiation.  Micro-Mechanics plans to produce a chip that, because it uses only microscopic mechanical switches, will be invulnerable to radiation damage.  The switches will, however, be slower than electronic switches and the chip will contain only 12,000 switches.

For there to be a market for Micro-Mechanics’ chip as a result of the apparent advantage described above, each of the following would have to be true EXCEPT:

A. There will be applications in which the speed attainable by an electronic switch is not essential.

B. Switches used on electronic chips that contain only 12,000 switches are more vulnerable to radiation damage than the switches on Micro-Mechanics’ chip will be.

C. There will be applications for computer chips in environments where the chips may have to survive intense radiation.

D. Some devices in which computer chips will be used will have other components that will be able to function during or after exposure to radiation.

E. Manufacturers are able to protect electronic computer chips against exposure to intense radiation, where this protection is necessary.

---------------------------------------------------------------------------------------------------

GWD27-Q 3 to Q6:

Two opposing scenarios, the “arboreal” hypothesis and the “cursorial” hypothesis, have traditionally been put forward concerning the origins of bird flight. The “arboreal” hypothesis holds that bird ancestors began to fly by climbing trees and gliding down from branches with the help of incipient feathers: the height of trees provides a good starting place for launching flight, especially through gliding. As feathers became larger over time, flapping flight evolved and birds finally became fully air-borne. This hypothesis makes intuitive sense, but certain aspects are troubling. Archaeopteryx (the earliest known bird) and its maniraptoran dinosaur cousins have no obviously arboreal adaptations, such as feet fully adapted for perching. Perhaps some of them could climb trees, but no convincing analysis has demonstrated how Archaeopteryx would have both climbed and flown with its forelimbs, and there were no plants taller than a few meters in the environments where Archaeopteryx fossils have been found. Even if the animals could climb trees, this ability is not synonymous with gliding ability. (Many small animals, and even some goats and kangaroos, are capable of climbing trees but are not gliders.) Besides, Archaeopteryx shows no obvious features of gliders, such as a broad membrane connecting forelimbs and hind limbs.

   The “cursorial”(running) hypothesis holds that small dinosaurs ran along the ground and stretched out their arms for balance as they leaped into the air after insect prey or, perhaps, to avoid predators. Even rudimentary feathers on forelimbs could have expanded the arm’s surface area to enhance lift slightly. Larger feathers could have increased lift incrementally, until sustained flight was gradually achieved. Of course, a leap into the air does not provide the acceleration produced by dropping out of a tree; an animal would have to run quite fast to take off. Still, some small terrestrial animals can achieve high speeds. The cursorial hypothesis is strengthened by the fact that the immediate theropod dinosaur ancestors of birds were terrestrial, and they had the traits needed for high lift off speeds: they were small, agile, lightly built, long-legged, and good runners. And because they were bipedal, their arms were free to evolve flapping flight, which cannot be said for other reptiles of their time. 

 -------------------------------------------------------------------- 


Q 3: The primary purpose of the passage is to

A. present counterevidence to two hypotheses concerning the origins of  bird flight

B. propose and alternative to two hypotheses concerning the origins of bird flight

C. correct certain misconceptions about hypotheses concerning the origins of bird flight 
D. refute a challenge to a hypothesis concerning the origins of bird flight

E. evaluate competing hypotheses concerning the origins of bird flight

------------------------------------------------------------------------- 

Q 4: The passage presents which of the following facts as evidence that tends to undermine the arboreal hypothesis?

A. Feathers tend to become larger over time

B. Flapping flight is thought to have evolved gradually over time

C. Many small animals are capable of climbing trees.

D. Plants in Archaeopteryx’s known habitats were relatively small

E. Leaping into the air does not provide as much acceleration as gliding out of a tree

------------------------------------------------------------------------- 

Q 5: Which of the following is included in the discussion of the cursorial hypothesis but not in the discussion of the arboreal hypothesis?

A. A discussion of some of the features of Archaeopteryx
B. A description of the environment known to have been inhabited by bird ancestors

C. A possible reason why bird ancestors might have been engaging in activities that eventually evolved into flight

D. A description of the obvious features of animals with gliding ability

E. An estimate of the amount of time it took for bird ancestors to evolve the kind of flapping flight that allowed them to become completely airborne

------------------------------------------------------------------------- 

Q 6: The passage suggests which of the following regarding the climbing ability of Archaeopteryx? 

A. Its ability to climb trees was likely hindered by the presence of incipient feathers on its forelimbs.

B. 

It was probably better at climbing trees than were its maniraptoran dinosaur cousins.

C. It had certain physical adaptations that suggest it was skilled at climbing trees.

D. Scientists have recently discovered fossil evidence suggesting it could not climb trees.

E. Scientists are uncertain whether it was capable of climbing trees

-------------------------------------------------------------------------

7. GWD27-Q7:

Providing initial evidence that airport are a larger source of pollution than they were once believed to be, environmentalists in Chicago report that the total amount of pollutant emitted annually by vehicles at O’Hare International Airport is twice as much as that which is being emitted annually by all motor vehicles in the Chicago metropolitan area.

A. as much as that which is being emitted annually by all

B. as much annually as is emitted by the

C. as much compared to what is annually emitted by all

D. that emitted annually by all

E. that emitted annually compared to the

------------------------------------------------------------------------------------------------------------

8: GWD-23-Q40

Political advocacy groups have begun to use information services to disseminate information that is then accessed by the public via personal computer.  Since many groups are thus able to bypass traditional news sources, whose reporting is selective, and to present their political views directly to the public, information services present a more balanced picture of the complexities of political issues than any traditional news source presents.

Which of the following is an assumption on which the argument above depends?

A. Information services are accessible to enough people to ensure that political advocacy groups can use these services to reach as large a percentage of the public as they could through traditional news sources.

B. People could get a thorough understanding of a particular political issue by sorting through information provided by several traditional news sources, each with differing editorial biases.

C. Information on political issues disseminated through information services does not come almost entirely from advocacy groups that share a single bias.

D. Traditional news sources seldom report the views of political advocacy groups accurately.

E. Most people who get information on political issues from newspapers and other traditional news sources can readily identify the editorial biases of those sources.

-------------------------------------------------------------------------------------------------------

9. GWD27-Q9:

In order to raise revenue, the federal government planned a tax amnesty program that allows tax delinquents to pay all owed tax without added financial penalty. However, economists projected that the federal government would collect a far lower percentage of total tax owed by delinquents than did state governments implementing similar programs.

Which of the following, if true, would most contribute to an explanation of the economists’ projections?

A. Tax amnesty programs are only successful if they are widely publicized.

B. Most people who honestly pay their state tax are equally honest in paying their federal tax.

C. Although federal tax delinquents usually must pay high financial penalties, the states require far lower financial penalties.

D. The state tax rate varies considerably from state to state, but the federal tax is levied according to laws which apply to citizens of all the states.

E. Unlike most federal tax delinquents, most state tax delinquents fail to pay state tax because of an oversight rather than a decision not to pay.

-------------------------------------------------------------------------------------------------------

GWD27-Q10 to Q12:

  Astronomers theorize that a black hole forms when a massive object shrinks catastrophically under its own gravity, leaving only a gravitational field so strong that nothing escapes it. Astronomers must infer the existence of black holes, which are invisible, from their gravitational influence on the visible bodies surrounding them. For example, observations indicate that gas clouds in galaxy M87 are whirling unusually fast about the galaxy’s center. Most astronomers believe that the large concentration of mass at the galaxy’s center is a black hole whose gravity is causing the gas to whirl. A few skeptics have argued that the concentration of mass necessary to explain the speed of the whirling gas is not necessarily a black hole: the concentration in M87 might be a cluster of a billion or so dim stars.
The same hypothesis might have been applied to the galaxy NGC 4258, but the notion of such a cluster’s existing in NGC 4258 was severely undermined when astronomers measured the speed of a ring of dust and gas rotating close to the galaxy’s center. From its speed, they calculated that the core’s density is more than 40 times the density estimated for any other galaxy.  If the center of NGC 4258 were a star cluster, the stars would be so closely spaced that collisions between individual stars would have long ago torn the cluster apart.

----------------------------------------------------------------------


Q10: The skeptics mentioned in the first paragraph would be most likely to agree with the astronomers mentioned in line 13 about which of the following statements concerning the galaxy M87?

A. The speed of the gas whirling around the center of M87 is caused by a dense object that is not a black hole.

B. The concentration of mass at the center of M87 is probably a large cluster of dim stars.

C. The presence of a black hole at the center of M87 is the most likely explanation for the speed of the gas whirling about the galaxy’s core.

D. The speed of the gas whirling around the center of M87 is caused by a large concentration of mass at the core of M87.

E. The gravitational influence of a star cluster would not be strong enough to account for the speed of the gas whirling around the core of M87.

-------------------------------------------------------------------------

Q11: The passage asserts which of the following about the existence of black holes?

A. Astronomers first speculated about the existence of black holes when they observed gas whirling around the center of a particular galaxy.

B. Evidence used to argue for the existence of black holes is indirect, coming from their presumed effects on other astronomical bodies.

C. Recent observations of certain astronomical bodies have offered proof.

D. A considerable body of evidence suggests the existence of black holes, even though their behavior is not completely consistent with the laws of physics.

E. Many astronomers are skeptical about certain recent evidence that has been used to argue for the existence of black holes.

-------------------------------------------------------------------------

Q12: Which of the following, if true, would most clearly undermine the possible explanation for the whirling gas in M87 that is mentioned in the last sentence of the first paragraph?

A. The stars in a star cluster at the center of M87 could exert a strong gravitational force without tearing the cluster apart.

B. A cluster of stars at the center would preclude the existence of certain other astronomical phenomena that have been observed at the center of M87.

C. 

The stars within many existing galaxies, such as NGC 4258, are more closely spaced than are the stars within the core of M87.

D. Only one other galaxy has been observed to contain gas clouds whirling about its center as they do about the core of M87.

E. The gravitational force of a cluster of a billion or so dim stars would be sufficient to cause a whirling ring of gas and dust to collect around the center of a galaxy.

-------------------------------------------------------------------------

13: GWD-29-Q2

The discovery that Earth’s inner core rotates independently of and more quickly than Earth’s outer layers is responsible for advancing studies of the flow of heat from the inner through the outer planet and of the formation and periodic reversal in direction of Earth’s magnetic field.

A. core rotates independently of and more quickly than Earth’s outer layers is responsible for advancing studies of the flow of heat from the inner through the outer planet and of the formation and periodic reversal in direction of Earth’s magnetic field

B. core rotates independently of and more quickly than Earth’s outer layers is responsible for advancing studies of how heat from the inner core flows through the outer planet, and the formation and periodic reversal in direction of Earth’s magnetic field

C. core rotates independently and more quickly than Earth’s outer layers are responsible for advancing studies of how heat from the inner core flows through the outer planet, and how Earth’s magnetic field forms and the periodic reversal of its direction

D. core, rotating independently and more quickly than Earth’s outer layers, are responsible for advancing studies of the flow of heat from the inner through the outer planet, and the formation and periodic reversal in direction of Earth’s magnetic field

E. core, rotating independently of and more quickly than Earth’s outer layers, is responsible for advancing studies of the flow of heat from the inner through the outer planet and of how Earth’s magnetic field forms and the periodic reversal of its direction
-------------------------------------------------------------------------------------------------------

14. GWD27-Q14:

The quality of early pieces of blown glass excavated in Italy and Western Europe by far surpass those of pieces from the eastern Mediterranean, when regarded not only in terms of the variety of shapes represented, but also in terms of decorative techniques and functionality.

A. by far surpass those of pieces from the eastern Mediterranean, when regarded not only in terms of

B. surpasses by far those from the eastern Mediterranean, with regard not only to

C. far surpass that of pieces from the eastern Mediterranean, not only regarding

D. far surpasses that of the eastern Mediterranean, with regard to not only

E. far surpasses that of pieces from the eastern Mediterranean, not only with regard to

-------------------------------------------------------------------------------------------------------

15: GWD-29-Q7

Until a few centuries ago, any large bones discovered in the fields or caves of Europe, now known to be large prehistoric animals, were usually assumed to be the remains of giants and were often displayed as curiosities in castles, palaces, town halls, churches, and monasteries.

A. now known to be large prehistoric animals, were usually assumed to be

B. presently known as from large prehistoric animals, were usually assumed as

C. bones now known to be those of large prehistoric animals, were usually assumed to be

D. bones known at present as of large prehistoric animals, were usually assumed as those of

E. currently known as those of large prehistoric animals, were usually assumed to be those of
----------------------------------------------------------------------------------------------

16: GWD-29-Q8

Which of the following, if true, provides evidence that most logically completes the argument below?

According to a widely held economic hypothesis, imposing strict environmental regulations reduces economic growth.  This hypothesis is undermined by the fact that the states with the strictest environmental regulations also have the highest economic growth.  This fact does not show that environmental regulations promote growth, however, since ______.

A. those states with the strictest environmental regulations invest the most in education and job training

B. even those states that have only moderately strict environmental regulations have higher growth than those with the least-strict regulations

C. many states that are experiencing reduced economic growth are considering weakening their environmental regulations

D. after introducing stricter environmental regulations, many states experienced increased economic growth

E. even those states with very weak environmental regulations have experienced at least some growth
-------------------------------------------------------------------------------------------------------

17: GWD-29-Q10

The principal feature of the redesigned checks is a series of printed instructions that the company hopes will help merchants confirm a check’s authenticity, which includes reminders to watch the endorsement, compare signatures, and view the watermark while holding the check to the light.

A. which includes reminders to watch the endorsement, compare signatures, and view

B. which include reminders for watching the endorsement, to compare signatures and view

C. by including reminders for watching the endorsement, comparing signatures, and viewing

D. including reminders to watch the endorsement, comparing signatures and viewing

E. including reminders to watch the endorsement, compare signatures, and view
--------------------------------------------------------------------------------------------------

18. GWD27-Q18:

The Near Earth Asteroid Rendezvous (NEAR) spacecraft will orbit the asteroid Eros for a year, slowly moving closer to the surface of the object to make ever more precise measurements that scientists hope will enable them to understand how the solar system formed some four billion years ago.

A. to make ever more precise measurements that scientists hope will enable them to

B. to make ever more and more precise measurements, which scientists are hoping to enable them

C. for making ever more precise measurements, and scientists hope that they will be able to

D. with the purpose of making more precise measurements than ever, and which scientists hope will enable them to

E. in order to make more precise measurements than it ever did, and scientists are hoping they will be able to

-------------------------------------------------------------------------------------------------------

Q19: GWD-29-Q14
In 1850 Lucretia Mott published her Discourse on Women, arguing in a treatise for women to have equal political and legal rights and for changes in the married women’s property laws.

A. arguing in a treatise for women to have equal political and legal rights

B. arguing in a treatise for equal political and legal rights for women

C. a treatise that advocates women’s equal political and legal rights

D. a treatise advocating women’s equal political and legal rights

E. a treatise that argued for equal political and legal rights for women
 -----------------------------------------------------------------------------------------------

20. GWD27-Q20:

Critics of certain pollution-control regulations have claimed that the money spent over the last decade in order to reduce emissions of carbon monoxide and of volatile organic compounds has been wasted.  The evidence they offer in support of this claim might appear compelling:  despite the money spent, annual emissions of these pollutants have been increasing steadily.  This evidence is far from adequate, however, since over the last decade a substantial number of new industrial facilities that emit these pollutants have been built.
In the reasoning given, the two portions in boldface play which of the following roles?

A. The first identifies a claim that the reasoning seeks to show is false; the second is evidence that has been cited by others in support of that claim.

B. The first identifies a claim that the reasoning seeks to show is false; the second is a position for which the reasoning seeks to provide support.

C. The first is a position that the reasoning contends is inadequately supported by the evidence; the second is a position for which the reasoning seeks to provide support.

D. The first is a position that the reasoning contends is inadequately supported by the evidence; the second is evidence used to support the reasoning’s contention.

E. The first is a position that the reasoning contends is inadequately supported by the evidence; the second is evidence that has been used to support that position.

-------------------------------------------------------------------------------------------------------

21: GWD-29-Q15
In little more than a decade, Argentina has become the world’s leading exporter of honey, with nearly 90,000 tons a year sold to foreign markets, almost half of which going to the United States.

A. with nearly 90,000 tons a year sold to foreign markets, almost half of which going

B. with the sale of nearly 90,000 tons a year to foreign markets, and almost half of it that goes

C. with the sale to foreign markets of nearly 90,000 tons a year, with almost half of it going

D. selling nearly 90,000 tons a year to foreign markets, and almost half of it goes

E. selling nearly 90,000 tons a year to foreign markets, with almost half going
--------------------------------------------------------------------------------------------------

22. GWD27-Q22:

Whales originated in the freshwater lakes and rivers of ancient Asia about sixty million years ago.  Not until about ten million years later did species of whales develop specialized kidneys enabling them to drink salt water.  Although fossil evidence shows that some early whale species that lacked such kidneys sometimes swam in the Earth’s saltwater oceans, these species must have had to return frequently to freshwater rivers to drink.

Which of the following is most strongly supported by the information given?

A. Fossils of whale species dating from between sixty million and fifty million years ago will not be found on continents that were at the time separated from ancient Asia by wide expanses of ocean.

B. Among whale fossils that date from later than about fifty million years ago, none are fossils of whale species that drank only fresh water.

C. Fossils of whale species that drank fresh water will not be found in close proximity to fossils of whale species that drank salt water.

D. The earliest whales that drank salt water differed from fresh-water-drinking whales only in their possession of specialized kidneys.

E. Between sixty million and fifty million years ago, the freshwater lakes and rivers in which whales originated were gradually invaded by salt water.

------------------------------------------------------------------------------------------------

GWD27-Q 23 to Q 26:

When the history of women began to receive focused attention in the 1970’, Eleanor Roosevelt was one of a handful of female Americans who were well known to both historians and the general public. Despite the evidence that she had been important in social-reform circles before her husband was elected President and that she continued to advocate different causes than he did, she held a place in the public imagination largely because she was the wife of a particularly influential President. Her own activities were seen as preparing the way for her husband’s election or as a complement to his programs. Even Joseph Lash’s two volumes of sympathetic biography, Eleanor and Franklin (1971) and Eleanor: The Years Alone (1972), reflected this assumption.

Lash’s biography revealed a complicated woman who sought through political activity both to flee inner misery and to promote causes in which she passionately believed. However, she still appeared to be an idiosyncratic figure, somehow self-generated not amenable to any generalized explanation. She emerged from the biography as a mother to the entire nation, or as a busybody, but hardly as a social type, a figure comprehensible in terms of broader social developments.

But more recent work on the feminism of the post-suffrage years (following 1920) allows us to see Roosevelt in a different light and to bring her life into a more richly detailed context. Lois Scharf’s Eleanor Roosevelt, written in 1987, depicts a generation of privileged women, born in the late nineteenth century and maturing in the twentieth, who made the transition from old patterns of female association to new ones. Their views and their lives were full of contradictions. They maintained female social networks but began to integrate women into mainstream politics; they demanded equal treatment but also argued that women’s maternal responsibilities made them both wards and representatives of the public interest. Thanks to Scharf and others, Roosevelt’s activities—for example, her support both for labor laws protecting women and for appointments of women to high public office—have become intelligible in terms of this social context rather than as the idiosyncratic career of a famous man’s wife.

---------------------------------------------------------------------- 


Q 23: The passage as a whole is primarily concerned with which of the following?

A. Changes in the way in which Eleanor Roosevelt’s life is understood

B. Social changes that made possible the role played by Eleanor Roosevelt in social reform

C. Changes in the ways in which historians have viewed the lives of American women

D. Social changes that resulted from the activities of Eleanor Roosevelt

E. Changes in the social roles that American women have played

-------------------------------------------------------------------------Q 24:  The author indicates that, according to Scharf’s biography, which of the following was NOT characteristic of feminists of Eleanor Roosevelt’s generation?
A. Their lives were full of contradictions

B. Their policies identified them as idiosyncratic.
C. They were from privileged backgrounds.

D. They held that women had unique responsibilities.

E. They made a transition from old patterns of a association to new ones.

-------------------------------------------------------------------------

Q 25: Which of the following studies would proceed in a way most similar to the way in which, according to the passage. Scharf’s book interprets Eleanor Roosevelt’s career?

A. An exploration of the activities of a wealthy social reformer in terms of the ideals held by the reformer

B. A history of the leaders of a political party which explained how the conflicting aims of its individual leaders thwarted and diverted the activities of each leader

C. An account of the legislative career of a conservative senator which showed his goals to have been derived from a national conservative movement of which the senator was a part

D. A biography of a famous athlete which explained her high level of motivation in terms of the kind of family in which she grew up

E. A history of the individuals who led the movement to end slavery in the United States which attributed the movement’s success to the efforts of those exceptional individuals

-------------------------------------------------------------------------Q 26:  The author cites which of the following as evidence against the public view of Eleanor Roosevelt held in the 1970’s?

A. She had been born into a wealthy family.

B. 

Her political career predated the adoption of women’s suffrage.

C. She continued her career in politics even after her husband’s death.

D. She was one of a few female historical figures who were well known to historians by the 1970’s.

E. Her activism predated her husband’s presidency and her projects differed from his.

------------------------------------------------------------------------- 

27: GWD-29-Q18

In the early part of the twentieth century, many vacationers found that driving automobiles and sleeping in tents allowed them to enjoy nature close at hand and tour at their own pace, with none of the restrictions of passenger trains and railroad timetables or with the formalities, expenses, and impersonality of hotels.

A. with none of the restrictions of passenger trains and railroad timetables or with the

B. with none of the restrictions of passenger trains, railroad timetables, nor

C. without the restrictions of passenger trains and railroad timetables nor

D. without the restrictions of passenger trains and railroad timetables or with the

E. without the restrictions of passenger trains and railroad timetables or the
-----------------------------------------------------------------------------------------

28: GWD-29-Q9

Manatees, aquatic mammals inhabiting Florida’s rivers and coastal waters, swim close to the surface and are frequently killed in collisions with boats.  To address the problem, boat traffic in manatee-populated waters is being required to maintain very low speeds.  Unfortunately, manatees are unable to hear low-pitched sounds and a boat’s sound lowers in pitch as the boat slows.  Therefore, this approach may in fact make things worse rather than better.

Which of the following, if true, casts most doubt on the conclusion?

A. The areas where boats would have to maintain low speeds were decided partly on the basis of manatee-population estimates and partly from numbers of reported collisions between manatees and boats.

B. Because the water hyacinth that manatees feed on grows best in water that is nearly still, water hyacinth beds can be disturbed or damaged by fast-moving boat traffic.

C. Over the last several decades, boat traffic in Florida’s coastal waters has been increasing almost continuously and now represents the greatest threat to the endangered manatee population.

D. The sound of a boat engine generally travels much further under water than it does through the air.

E. When experimenters exposed manatees to the recorded sounds of boats moving at various speeds, the creatures were unable to discern the sounds over normal background noise.

-------------------------------------------------------------------------------------------------------

29: GWD-29-Q19

Critical-thinking instruction is predicted on two assumptions:  that there are clearly identifiable thinking skills that students can be taught to recognize and apply appropriately, and if recognized and applied, students will become more effective thinkers.

A. if recognized and applied, students

B. if these skills are recognized and applied, that students

C. if students recognize and apply them, that they

D. that if recognized and applied, students

E. that if students recognize and apply these skills, they

-----------------------------------------------------------------------------------------------

30: GWD-29-Q23
Because they can reproduce several times each year and produce large numbers of offspring, many insect species can generally adapt quickly to changes in their environment.

A. Because they can reproduce several times each year and produce large numbers of offspring, many insect species

B. Because of many insect species’ ability of reproducing several times a year, along with producing large numbers of offspring, thus they

C. Because they can reproduce yearly several times, along with producing offspring in large numbers, so many insect species

D. Due to their capability to reproduce several times yearly and to produce large numbers of offspring, many insect species

E. Due to their ability of reproducing several times yearly and to produce offspring of large numbers, many insect species
-----------------------------------------------------------------------------------------------------

31: GWD-29-Q16

Political Advertisement:

Mayor Delmont’s critics complain about the jobs that were lost in the city under Delmont’s leadership.  Yet the fact is that not only were more jobs created than were eliminated, but each year since Delmont took office the average pay for the new jobs created has been higher than that year’s average pay for jobs citywide.  So it stands to reason that throughout Delmont’s tenure the average paycheck in this city has been getting steadily bigger.

Which of the following, if true, most seriously weakens the argument in the advertisement?

A. The unemployment rate in the city is higher today than it was when Mayor Delmont took office.

B. The average pay for jobs in the city was at a ten-year low when Mayor Delmont took office.

C. Each year during Mayor Delmont’s tenure, the average pay for jobs that were eliminated has been higher than the average pay for jobs citywide.

D. Most of the jobs eliminated during Mayor Delmont’s tenure were in declining industries.

E. The average pay for jobs in the city is currently lower than it is for jobs in the suburbs surrounding the city
Code No. Pam

Political Advertisement:

Mayor Delmont’s critics complain about the jobs that were lost in the city under Delmont’s leadership.  Yet the fact is that not only were more jobs created than were eliminated, but the average pay for these new jobs has been higher than the average pay for jobs citywide every year since Delmont took office.  So there can be no question that throughout Delmont’s tenure the average paycheck in this city has been getting steadily bigger.

Which of the following, if true, most strengthens the argument in the advertisement?

A. The average pay for jobs created in the city during the past three years was higher than the average pay for jobs created in the city earlier in Mayor Delmont’s tenure.

B. Average pay in the city was at a ten-year low when Mayor Delmont took office.

C. Some of the jobs created in the city during Mayor Delmont’s tenure have in the meantime been eliminated again.

D. The average pay for jobs eliminated in the city during Mayor Delmont’s tenure has been roughly equal every year to the average pay for jobs citywide.

E. The average pay for jobs in the city is currently higher than it is for jobs in the suburbs surrounding the city.
---------------------------------------------------------------------------------------------------

TTGWD4-Q35 to Q37:

The experience of British business in Iran between the 1860’s and the 1970’s is one example of the changing importance of British enterprise in Asia as a whole.  Before 1914 British business established and dominated Iran’s modern industrial and financial sector; in the 1920’s this domination began to wane; by the 1960’s British enterprise was of little importance in the Iranian economy.  While in Japan and India the decline of British business was primarily a function of the rise of strong indigenous business groups, in Iran, by contrast, the government played a large role in both challenging British commercial interests and stimulating locally owned enterprise.  Periodic surges of intense Iranian economic nationalism must be understood partly as a reaction to the close relations between British business in Iran and the British government.  In retrospect, it is possible to see the uneasy and ambiguous nature of this relationship. It is true that the British Imperial Bank in Iran was never entirely a tool of the British government, and that the Anglo-Iranian Oil Company did not take its orders from the British government, despite the 51 percent government shareholding.  However, the relationship between British business and the British government was sufficiently close that many Iranians understandably viewed the oil company and the bank as symbols of a British imperialist policy.
----------------------------------------------------------------------


32. TTGWD4-Q35:


The primary purpose of the passage is to

A. evaluate a country’s solution to a problem

B. describe differing perceptions of a historical event

C. contrast historical events in two countries

D. provide an explanation for a historical phenomenon

E. challenge an accepted explanation for a historical change

----------------------------------------------------------------------
33. TTGWD4-Q36:


The passage suggests which of the following about British business in Japan and India as compared to British business in Iran?

A. British business in Japan and India received less support from the British government than did British business in Iran.

B. During the early twentieth century, British business played less of a role in the Japanese and Indian economy than it did in the Iranian economy.

C. The governments of Japan and India played less of a role in the changing status of British business than did the government of Iran.

D. The types of enterprises conducted by the British in Japan and India were significantly different from the enterprises conducted by the British in Iran.

E. British business in Japan and India declined more gradually than did British business in Iran.

-----------------------------------------------------------------------
34. TTGWD4-Q37:

The author of the passage mentions the British government’s shares in the Anglo-Iranian Oil Company most probably in order to

A. demonstrate the British enterprise in Iran was controlled by the British government

B. contrast British-run businesses in Iran with Iranian-run businesses in Iran

C. show how joint British and Iranian enterprises were encouraged by the British government

D. illustrate a point about the financial difficulties faced by British businesses in Asia

E. suggest a reason for Iranians’ perception of the role British government played in British business

----------------------------------------------------------------------

35. GWD27-Q35:

In polluted environments, dolphins gradually accumulated toxins in their body fat, and the larger the dolphin, the more accumulated toxin it can tolerate.  Nearly 80 percent of the toxins a female dolphin has accumulated pass into the fat-rich milk her nursing calf ingests.  Therefore, the unusually high mortality rate among dolphin calves in the industrially contaminated waters along Florida’s Gulf Coast is probably the result of their being poisoned by their mother’s milk.

Which of the following, if true, most strengthens the argument?

A. The survival rate of firstborn dolphin calves in the area along Florida’s Gulf Coast is highest for those whose mothers were killed before they were weaned.

B. The rate at which adult dolphins living in the waters along Florida’s Gulf Coast accumulate toxins is no higher than that of adult dolphins in comparably polluted waters elsewhere.

C. Among dolphin calves born in the area along Florida’s Gulf Coast, the mortality rate is highest among those with living siblings.

D. As dolphins age, they accumulate toxins from the environment more slowly than when they were young.

E. Dolphins, like other marine mammals, have a higher proportion of body fat than do most land mammals.

-------------------------------------------------------------------------------------------------------

36: GWD-29-Q24
According to recent studies comparing the nutritional value of meat from wild animals and meat from domesticated animals, wild animals have less total fat than do livestock fed on grain and more of a kind of fat they think is good for cardiac health.

A. wild animals have less total fat than do livestock fed on grain and more of a kind of fat they think is

B. wild animals have less total fat than livestock fed on grain and more of a kind of fat thought to be

C. wild animals have less total fat than that of livestock fed on grain and have more fat of a kind thought to be

D. total fat of wild animals is less than livestock fed on grain and they have more fat of a kind thought to be

E. total fat is less in wild animals than that of livestock fed on grain and more of their fat is of a kind they think is
------------------------------------------------------------------------------------------------------
Q37: GWD-29-Q17

The total market value of real estate in Altonville has steadily declined over the past four years.  This decline has meant that the overall figure on which the city’s property tax is based—the assessed value of that real estate—has also declined.  The percentage of assessed value that was paid as property taxes to the city, however, did not change from year to year during this period. 

The information above most strongly supports which of the following?

A. The percentage of Altonville’s yearly revenue that comes from money collected in property taxes did not change over the past four years.

B. The percentage of Altonville’s yearly revenue that comes from money collected in property taxes has declined steadily over the past four years.

C. The amount of revenue that Altonville collected from property taxes was lower last year than it was four years ago.

D. During the past four years, Altonville officials increased tax rates on other sources of revenue such as retail sales and business profits.

E. Altonville will soon require property owners to pay a higher percentage of the assessed value of their property as property tax.Compare with an old edition of this question listed below.  There are many tiny changes in the main body of the question and its answer choices.
Code No. Ttm

The total market value of real estate in Altonville has steadily declined over the past four years.  This decline has meant that the overall figure on which the city’s property tax is based—the assessed value of that real estate—has also declined.  Moreover, the percentage of assessed value that was paid as property taxes to the city did not change during this period. 

The information above most strongly supports which of the following?

A. Money collected from property taxes provided most of Altonville’s revenue during the past four years.

B. The percentage of Altonville’s overall revenue that was collected from property taxes did not change over the past four years.

C. Altonville officials had proposed raising property tax rates during the past four years but never did so because of strong opposition from property owners.

D. The total amount of revenue that Altonville has collected from property taxes has declined over the past four years. 

E. During the past four years, Altonville officials also did not increase tax rates on other sources of revenue such as retail sales or business profits.

-----------------------------------------------------------------------------------------------------

38: GWD-29-Q27

Though sucking zinc lozenges has been promoted as a treatment for the common cold, research has revealed no consistent effect.  Recently, however, a zinc gel applied nasally has been shown to greatly reduce the duration of colds.  Since the gel contains zinc in the same form and concentration as the lozenges, the greater effectiveness of the gel must be due to the fact that cold viruses tend to concentrate in the nose, not the mouth.

In order to evaluate the argument, it would be most helpful to determine which of the following?

A. Whether zinc is effective only against colds, or also has an effect on other virally caused diseases

B. Whether there are remedies that do not contain zinc but that, when taken orally, can reduce the duration of colds

C. Whether people who frequently catch colds have a zinc deficiency

D. Whether either the zinc gel or the lozenges contain ingredients that have an impact on the activity of the zinc

E. Whether the zinc gel has an effect on the severity of cold symptoms, as well as on their duration
----------------------------------------------------------------------------------------------------

39: GWD-29-Q26
In his experiments with gravity, Isaac Newton showed how the motion of each planet in the solar system results from the combined gravitational pull of the Sun and of all the other planets, each contributing according to their mass and distance from the others.

A. of all the other planets, each contributing according to their

B. of all the other planets, with each of them contributing according to their

C. all the other planets, each of which contributing according to its

D. all the other planets, each contributing according to its

E. all the other planets, each of which contribute according to their
----------------------------------------------------------------------------------------------------

40: GWD-29-Q29
Most of Portugal’s 250,000 university students boycotted classes in a one-day strike to protest a law that requires them to contribute $330 a year toward the cost of higher education, previously paying $7 per year.

A. year toward the cost of higher education, previously paying $7 per year

B. year toward the cost of higher education, for which was previously paid $7 per year

C. year, compared to the previously $7 per year, toward the cost of higher education

D. year toward the cost of higher education, instead of the $7 per year required previously

E. year as opposed to the $7 per year required previously for the cost of higher education
-------------------------------------------------------------------------------------------------
41 GWD-29-Q28
Astronomer:  Observations of the Shoemaker-Levi comet on its collision course with Jupiter showed that the comet broke into fragments before entering Jupiter’s atmosphere in 1994, but they did not show how big those fragments were.  Nevertheless, some indication of their size can be inferred from spectrographic analyses of Jupiter’s outer atmosphere.  After the fragments’ entry, these analyses revealed unprecedented traces of sulfur.  The fragments themselves almost certainly contained no sulfur, but astronomers believe that the cloud layer below Jupiter’s outer atmosphere does contain sulfur.  Since sulfur would have seeped into the outer atmosphere if comet fragments had penetrated this cloud layer, it is likely that some of the fragments were at least large enough to have passed through Jupiter’s outer atmosphere without being burned up. 

In the astronomer’s argument, the two portions in boldface play which of the following roles?

A. The first is a claim that the astronomer seeks to show is true; the second acknowledges a consideration that weighs against the truth of that claim.

B. The first is a claim that the astronomer seeks to show is true; the second provides evidence in support of the truth of that claim.

C. The first and the second are each considerations advanced in support of the conclusion of the argument.

D. The first provides evidence in support of the conclusion of the argument; the second is that conclusion.

E. The first is a circumstance for which the astronomer seeks to provide an explanation; the second acknowledges a consideration that weighs against the explanation provided by the astronomer.
--------------------------------------------------------------------------------------------------

